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Topic:- Child Development & Pedagogy (CDP)

1) The method used in memorizing poetry is called:/ Hfadr &I qiq B A Ugdd faftr =1
T ol &

1. Massed learning / EI% T TR 3Ty
2. Distributed learning / faafed fRren

3. Serial memorization / $P i?-l P YT

4, Paired Associate learning / gﬁilﬁ Teantt i

Correct Answer :-

o Serial memorization / St pape=pyyf

2) Strong believers in the ‘Language Relativist Hypothesis’ argue that AL

ATeraTardt uRbeq ' ¥ Aoqd YR sras e _

1. Language determines perception / W@ﬂﬁﬁﬂ%ﬁ?ﬂ%l

2. Language determines thought / Wﬁﬂﬁﬁﬁﬂfﬁﬁﬁ?ﬁ%l

3. Language influences memory / WWW@UWW%I
4, Language influences thought / Wﬁaﬂﬁqlﬁﬁaﬂ?ﬁél

Correct Answer :-

 Language determines thought / Wﬁaﬁﬁﬁ?ﬁhﬁm%l

3) An individual who is lacking in achievement motivation would exhibit yAY CES|

foraw I Suafsy @t wHI g 98 USRI B
1. Self-assurance / TH-ATHHA
2. Pessimism / |§|?|Qlla|3
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3. Pragmatism / oJdgRdlq
4. Positive outlook / HRIH® EPHI

Correct Answer :-

o Pessimism / IERIQIIGIG

4) Planning in inclusive education should be followed by ., gHTaeh fRrem § arer &1
_ S gRTYTaH fbar s anfgu|

1. Recapitulation / HIR-ch

2. Evaluation / Heidb+1
3. Implementation / FHraaa

4. Assessment / b

Correct Answer :-

« Implementation / Hrafa

5) The RTE Act was enacted in the year: / 3|'R_<ﬂ_§; St E | CLE: | aﬂlﬁﬂn T YT:

1. 2010
2. 2008
3. 2011

4. 2009

Correct Answer :-
« 2009

6) ‘Jack is a below average student in mathematics’. Which of the following tests would best support

he above statement?/%"@lﬁﬁ@ﬁ@?@'ﬁ%l fFgfafad & ¥ 19 a1 o SwRie
HY BT Gdlcad UL T 32

1. Intelligence test / §f; URT&UT

2. Aptitude test / SHGIRT GRT&0T

3. Achievement test / SUTT TRI&T0T

4. Skill based test/ PTRICT SR TRT&IOT

Correct Answer :-

« Achievement test / ST TI&TT
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7) In Pavlov’s famous experiment with the dog, what was the term he used to describe the food for

which the dog naturally salivated? / ﬁ%muqﬁ?ﬁa%?mmﬂﬂﬁ, a'e'maaﬁqw YT
o a®T IUANT I IS &1 quiH H & fore favar mam 31 forass fore o warvnfa® w=u
I R SUSTAT UT?

1. Unconditioned response / YT dS ﬂm
2. Neutral stimulus / dC¥J 3§£|Q$
3. Unconditioned stimulus / ATHTAd 3€|Q$

4. Conditioned stimulus / \}m'ma m

Correct Answer :-

« Unconditioned stimulus / SaTHTfd® IE1TdH

8) How many pairs of source traits did Cattell identify in his theory of personality? /

Hed A U Afdad & Rigid & |id d&01 & fva- g feamg?
1. 16
2.32
3. 14

4. 22

Correct Answer :-

9) Teacher eligibility test is an example of which type of test? / e urar wdhevr fPa ueR &
U407 BT TP SGIERT 52

1. Aptitude / Sffar
2. Creativity /QGFTQﬂFIﬁT

3. Intelligence /@
4. Personality /W

Correct Answer :-

 Aptitude / ST

10) In a learning friendly environment, the following characteristics are present except

ST & TH P aaEaRuT §, & 3raar fAufafad faivand sufRue %ﬂ
1. Learner autonomy / QT&‘lT Qﬁﬁ Al
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2. Multi-disciplinary approach / a@-ﬁm EEEaLl
3. Teacher monitoring / R1ere ot R
4. Flexible process / GEISIRIER]

Correct Answer :-

« Teacher monitoring / fRref o1 FARE

11) In a language, the smallest unit that signifies meaning is called /W HHT ﬁ:, I &t

S ATA ATA BIEIIHIS DI oI AEIg|
1. Phoneme / ¥dT-H (BI1H)

2. Syntax / AT fa=um (Rica)

3. Word / Xeg (TS)

4. Morpheme / 0¥ (AT TH)

Correct Answer :-

o Morpheme / EYiee] (q\lﬁqagfq)

12) Which of the following statements best explains ‘intrinsic motivation’ in the classroom practice?

/ Frafafad & A S9-91 FYF &1 G § ' 3Midi¥e IR ) Jad 331 avg afofd Har g2

1. The teacher encourages autonomy and gives choices to the learners to reach their goals. / fR1efer T

B Wi BRar 8 3R Rrenfigl &1 37 dadt de ugan & fo s Sar g

2. The teacher uses praise and appreciation of a child’s work. / 278/ S & HIH DI TR 3R T
FAT B

3. The teacher gives a short break to have snacks and water. / e rRar 3R T R & ﬁ‘l’Q Udh Bic
eI

4. The teacher provides rules and conditions to complete the task. / B Earkal P & & fog fam
3R T Ye Bl &

Correct Answer :-

» The teacher encourages autonomy and gives choices to the learners to reach their goals. / fRrere argdn

DI MTRd BT & 3R Remfial o 3% edl db ugen & fo fJpeu Sar gl

13) Which of the following is not a part of the process of memory? / fafafaad P '\qiﬁf &t
wfsrar o1 fgar gl 82

1. Storage / HSRUT
2. Retrieval / JT: e
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3. Encoding / 33@"3’”

4. Motivation / ORUTT

Correct Answer :-

« Motivation / ORI

14) Which part of memory involves forgetting unnecessary information in 15-25 seconds? /'\‘Hﬁf a‘T

5T URT H 1525 Y W AR TSR S Y& AT M 82
1. Long term memory / dd-pretA Fﬂﬁf
2. Sensory register / Haa IR

3. Working memory / ¢l Fﬂﬁf
4, Short term memory / @-ﬁ?ﬂ?{ Fﬂﬁf

Correct Answer :-

« Short term memory / aq-m?ﬂ:f F:ﬂ%f

15) Infants develop stranger shyness by the age of ./ fQTS{[ P 3G dF Sl |
fRrere= a1 v faefa #3a 81

1. Three months / GG Ilébf%f
2. One year/wa'ﬁf

3. Nine months / '_'ﬁ Ilﬁlef

4, Six months /@‘s’ﬂ%ﬁ

Correct Answer :-

e Six months /@?qﬁe{

16) Deductive method proceeds from : /TS fafy e UPhIR Eﬁ?ﬂ' %:
1. Examples to illustrations / 3GIg XUl q g@ﬁh AR

2. Law and rules to observation / PTJ 3R Fawl § sadied o 3R

3. Specifications to generalisations / QTR ¥ fafa= &t 3R

4, Observation to examples / A § IGTeRUI Bl 3R

Correct Answer :-

 Law and rules to observation / P 3R Fawl § sadid & 3R
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17) What is the term used to describe the strong bond between a mother and her child? /'Fﬁ\?fﬁ?'

ISP T & a1 Toigd S BT JUIH B & e {59 e 1 IuahT fovar siar 382
1. Love / UH (Td)

2. Security / GR&T (RINRT

3. Maternity / HIJcd (aETﬁ?ﬂ)

4. Attachment / HHdI (31?1'CH:I.C)

Correct Answer :-

+ Attachment / HHdI (312'4 J--\I.C)

18) What type of intelligence would be used when trying to navigate through traffic? /%ﬁ‘)_tﬁ ﬁ

Afdiie e Bt IR Hd 99 59 yoR o1 gis &1 Iuah fear srem?
1. Interpersonal intelligence / 3 dQIaCIIrO?dOP gf&

2. Intrapersonal intelligence / faRTdufads Eﬁ@ﬁn
3. Spatial intelligence / RIECY g@

4. Naturalistic intelligence / 4 ICPI?ICDCIIC:\I gl

Correct Answer :-

« Spatial intelligence / RIIIECa §@

19) Hereditary factors begin their influence right from the time of of the child./ W

PR I & & T A AT AHTT FE PRA & |
1. Development / [dT

2. Growth / Jfg

3. Conception / TTHTUTT

4. Early years / URRYS® a9

Correct Answer :-

« Conception / THTT

20) According to Kohlberg, child may question the social and political beliefs of
the parents and elders in moral development stage. / PlgaT &

SR, T, e e axur § rar-far ok 731 F "
3R IS AIaTSi W HaTd ST a2
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1. Post-conventional /W—W
2. Formal conventional / W URUN®

3. Pre-conventional / @—W
4. Conventional / URUN®G

Correct Answer :-

 Post-conventional /HQ'CI—LJIQL{&GP

21) How will you calculate average marks of students? / 30 STl & 3NTd 3l
1 TOFET HH N2

1. Geometric mean/ fSraAfcs dren
2. Variance/ U8R

3. Standard deviation/ A fage
4. Arithmetic mean/ 3BT 3NTd

Correct Answer :-

. Arithmetic mean/ 3/ITTOId 3NTd

22) Generally, all classrooms will have diversity. Identify the dimension that does not present too many problems
related to diversity.

/ TR R, Gt wemai ¥ fafauar gft 1 39 Smamd &) ugam= it 9gq iftre fafaeara
e P HETS B UEId 781 HIaT |

1. Cultural background/ WW qgﬂﬂﬁ
2. Geographical status/ Hmifere fufa

3. Social beliefs / AT HIITY

4. Athletic ability/ gF aTq

Correct Answer :-

» Geographical status/ Hmfere fufa

23) Which of the following is a child's attribution to success? / fFafafad & @ o9
AP dl & forT T o= 31 fa=ivans g2

1. Consistent focus on Learning / SfITH IR AR A Higd Bl

2. Random focus on self / 04 TR &9 dhigd BT
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3. Maintain worksheets and notes / HRIUF® (FHITe) 3R ey TR HIAT

4. Believe in luck / 4T TR faymg &

Correct Answer :-

o Consistent focus on Learning / SfITH IR AR A Higd Bl

24) CANCELLED

You are helping a mother to develop a behavioral program to deal with her son Raj who has
oppositional defiant disorder. Which of the following is the MOST significant component of this
program?

/ 3ITT TP Hi I 3T ¢ I § e F T v AaeR riwH e s A Age IR &,
gﬂﬁﬁ%ﬁ%ﬁh@ﬁ%l%ﬁﬁﬁﬁﬁﬁﬁﬂ%ﬁﬁw
?

1. Strict parenting / d%d RN
2. Detention / fAR1Y

3. Positive reinforcement / GHRIHD iUl

4. Punishment / JSIT

Correct Answer :-

« Positive reinforcement / YHRTHD {E@ﬁw
25) CANCELLED

Which of the following is not part of the quantitative prerequisite for Continuous and Comprehensive

Evaluation? / §dd Ud sTU® Heuid- & fore fafefead & «un ursrers yaften o1 fewar a8t 82
1. Classrooms / Eﬁ&rrq

2. Schools / fa=ITer

3. Teachers / QT&‘W

4, Curriculum / UTGIh H

Correct Answer :-

o Curriculum / UTIsh H

26) CANCELLED

Constructivism assumes that all knowledge is: / Xd-IdI¢ Ig HTAT sty 3e:
1. Constructed from the learner’s previous knowledge. / ﬁT&‘ﬂﬁ% qéaﬁfsrm 3 fAffa

2. Constructed solely by the learner. / ﬁT&‘ﬂ"’-ﬁW $Had FiHd )
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3. Transmitted to the learners by the teacher. / Rrerw g1 Rremeft o1 Uit
4. Acquired solely through personal experience. / fediTd 3{JHd & H1eoH T ohad UTwd foan g3l

Correct Answer :-

 Constructed from the learner’s previous knowledge. / Rremif & Cﬁﬁ?ﬁsﬂq 3 ffifa
27) CANCELLED

may affect a child’s social development. / , I & 9IS faer &1
A $R AHAT 3|

1. Asthma/ ST&JHT
2. Chronic Illness / ER-F'ﬁ SR

3. Allergies/ Q(_'ﬁ‘ﬁ
4, Eating habits/@'lef P 3Med

Correct Answer :-

« Chronic Illness /ER'Fﬁ SR

28) As per Cognitive Constructivism, learning is a result of: / HITHTH® IAAAIG & SR,
T =T 1 T aioH §:

1. Behavioral and Collaborative responses / 4dgIR 3R ﬂﬁw Qﬁw
2. Assimilation and Accommodation of structures / TXITSM BT TSI 3R HTATH

3. Extrinsic and Intrinsic reinforcement / EITE'ﬂ BhT 3fTdR® WUT
4, Reward and Punishment of actions / Tﬂi_dTEF P YD 3R gs

Correct Answer :-

« Assimilation and Accommodation of structures / G-I BT TSI GﬁT S ICIESI

29) Which assessment measures student’s performance against a fixed set of

predetermined standards? /ﬁﬁg@ﬁﬁﬁﬂﬁﬁ%@ﬁ%@?%ﬁm
BT & USRI B1 AT 8?2

1. Norm-referenced assessment / W—ﬁ?{fﬁﬂ 3{ThcA
2. Criterion-referenced assessment / ql:la'g-ﬂ'ah-h XICANG!

3. Diagnostic assessment/fldllr'\-ICh 3{ih

4. Achievement assessment / IUA BT b

Correct Answer :-
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« Criterion-referenced assessment / ql:la'g—l:iaﬁ-h 3{Tha

30) Radha asks her students to make their own questions and write their respective answers for
a chapter. A student in which stage of cognitive development benefits most from the implications

of this task? / YT 7 3T BT V I foIT & Toh AT A UY I 3R ITA afdd
IR for@q & fore ®81 | T B, IS e & {59 @R d 59 o & fAfgard
T g9 3 arHifad giar 82

1. Sensory motor stage /ﬂaﬁw SHART

2. Concrete operational stage / Hﬁﬂm SHART

3. Formal operational stage / TR Tfeharaes SrawT
4, Preoperational stage /@‘W A¥YT

Correct Answer :-

« Formal operational stage / TR Tfohardes SrawiT

Topic:- General Hindi (L1GH)

1) 3 T "areT FY gear B, ) 98 R ve Tt vl & ueafaa it 2, stet e ik wyfer
Saffard g wd | I 3R U] & HaY B a1 al e It 3 WMol BT ReER wey of agd meRr 9, ot
SR A Iyeitdd fears ¢4 §... IR, 1, U1, US... 31U ¥ g o= siaxfeel ® 9 uep Siiga ufasrar &1
MR, wmaﬁmmmmaﬁ%lwwmwﬂm%mwuvﬁ@ﬁm
USRI & Hfel TG = "GRIUTRT BT HTaT I 5= fea, G’ngfﬁﬁagm , 3R TPl srguron A Tga
A 41?2 T YR FT IS TAT BT B, WET ITHTAUT, HETHRT 3R TRIOIG HUT3i & Ui T80 ol 3
sita @1 srefat U § Wera® 7 gla? afe us yws | ofid g sufe U U’ § U g1 P
TENHI0T FaT @, dl I a8 WG 5l APl §, Tel Y DI 3§ U AEpId & WiA-TId 3ifdrd ¥d &
TR ®1 Fd §U IS gadl, At &1 W R & B3 Wfa, UgTs W Tea g¢ [ TR amn &t siadbur
9 vefus €, o W Feu wad gu g9 Ut sita=i-ar &t did-amr § uikura #7 ad €1

3refia ® =1 & wfa a8 HraAT oy o= # Y ST o Tt N, STET AR1-UW BT TERT WY Tpia SR TWRT
Tt i A FST 4TI G IRBIaws! Ft e R 3 a1g ot 8, forad ver u yfke= &1 v 3vA v
i 3 ygm ATaT 8, 3R SU U H YR w9 & IR H Wl $ U1 IR UHe B4 8, 9 TP 3oia
TE P ATATAP IAY 1T g §1 95 forad §1 "uo aw® g1 & 9 g3 Fl-wft orm 31 & ufa e dt
geaTee SR Hedl HeH Sl 8 Al & Ty WIe wedn § 1 & {3t +ft e w arom 3 i3t ok
20 | T T AE 1 T € o A F e Y Freht g sher & R e angm, SR Y,
WY gde & g1l A faar ur1" 2re YfRp= & €, 3= 31 'HeR IRMAT & IR H, AfpT 37 71 Ui +1 v
me%mmﬁmﬁﬁm%ﬁmﬁsﬁﬁ%m,sﬂmﬁaaﬁvﬁeﬂa&mﬁuﬁwﬁaa?ﬂm
<t €, S I THG-THY WR MY HTERY F 1Y HRA-Yf F ufa wwe 3t A

ST TR P UG 12 IR T U= $T Sk ga1s¢|

U: ARPIAD! Dt fhed &1 U 3= firy &1 fraeT v ygaw A g2
1. Fofar-fcme

2. DINTFTHR

3. RFATDRTRR

4. gfRp


https://applink.adda247.com/d/XhqWf9lSap

AddeE
Google Play

Correct Answer :-

2) A Tfe 31T P weAr 2, A a8 Rib ve RN W fa A veafad g 2, wiet e ok wfr
SraffArd g Wk | I 3R U] & HaY B a1d al e @t I Aol BT R wey off agd w9, ot
FW A 3efidd e 39 §... TR, 78, TeTS, Us... ey § g oA iawfdel # d us Siida ufasar &1
ﬁwwmﬁmmmmﬁ%%lwwmmmﬁmwuﬁ%ﬁﬁm
SUFRUN & i TG = "IRIUTRT H WTaT1 1 5T feram, it 1Y &1 A, 3R Tl srguron A Iga
s 4T? T YR BT HIg THT ST 8, 9T IATIT, HETHRE MR TRIOS HUT13 & Wl W HY 3rq
sita &1 srefawt U W werae 7 gld? afe us Y | ofid g sufe U U’ § U g1 P
TIENHRUT ST 3, T I T81 HHT §1 Hhdl 3, Tl N DI 48 W Aepia P Wfa-wue 3ifhd T5d 3
TR ®1 Fd §U IS &adl, At &1 W FHd & IS WfA, UeTs W Tea g fHi tRifdre amn &t siadban
9 Uefus €, o W Feu vad gu g9 Ut shta=i-ar &t drd-armr § uiura &% ad §1

It o 3 & ufay Tg yraAT 3 =N 7 oft T S wepel! off, et I=1-UH BT TeRT J§Y TP 3R WRT
Tt i A ST 4TI Gt IRBIaws! Ft e R 3 a1g ot 8, forad ver ur yfke= &1 v 3vA v
iy 3 ygm ATaT 8, 3R SU T H YR w9 & IR H Wl $ U1 ISR UHe B4 8, 9 TH 3oila
TE P AP IAY 1T gu §1 95 forad &1 "uo aw® g1 & 9 g3 Ff-3ft orm 31 & ufa e dt
geraTse SR Hedl HeH Sl 8 Al & Ty Wie? wear § 1 & {5t +ft e w arom 3 3t ok
20 | T T A1 T € o A F e Y Freht g sher A R e angm, SR S,
WY gdell & g1l A faar ur1" 2re gip= & €, 3= 1 'HeR IRMT & IR H, AT 370 ;1 Ui +1 v
me%mmﬁ@ﬁ%m%,ﬁmﬁaﬁﬁ%m,aﬁmﬁaaﬁwﬁeﬁa&mﬁuﬁwﬁasﬁm
Tt €, SN I THY-TUG W TEY UIEIY & A1 HRA-YfA & ufd yae a1 |

ST T $Y g 1 TD T T BT I a5y

U= gUR Tel o 9w & ufa srefigar = ¢xmy &) 5= feame
1. WGdl-arSt

2. ST

3. §pfd

4. UPpfd

Correct Answer :-

3) 309 IS '3 A AT B, 9t 98 Rrd ve Wt Wl # uewfaa Bt B, wiet | ok s
SfRpd g1 T | T 3R U] & Y Bt 91d ¥ 3T QY 39 el T e "oy ff 9ga e B, o
SHWR A Ifeitdd fears 24 7... IR, Tl UgTS, US... MU ¥ g orum siaxfael ® 9 uep Siiga ufasan &1
ﬁwwmﬁmmmmﬁ%%lwwmﬂmmﬁ?mwm%ﬁqm
JUDHRUN & U TG A "SRUfHT aﬁmmaﬁmﬁm\—:ﬁ Pt AR, 3R TPl SraeRum A 954
A 4T? T URA BT BIg TAT ST 8, TGT AT, WETHRE 3R TRIOTS HUT3H & Wi T Hi 30
sita @t a1 U § WETa® el §1d? S U TS H SiidT g iRt U U § 31U g B
TaefiH o HRar 8, O U8 98t WHT B TPl §, el e B 35 W IPpfa F WHfa-wia sifrd g 2
TR P! G §U I3 ¢qdT, Tl BT W= Ha g Pig Wi, 8T8 W Ted g frwdt URTiOrw arn &Y siadbun
9 vefus €, o W Feu vad gu g9 Ut shta=i-arn &t did-arn § uiura #5% ad €1

3refta o =1 F ufar g8 Hra 3= A=W | oY T o1 At N, STET IW-UH BT TE ey TP 3R TWURT
Tt Wi A FST 4TI G IRBIaws! Ft e R 3 a1g ot 8, forad ver um yfe &1 v svA v
i 3 ygm GATaT 8, 3R SU U H YfRp w9 & IR # Wl $ U1 ISR YHe B4 §, 3 TP 3oila
WE BT AP 39 e gU &1 98 frwd B1 " a9 g1 & A1d g9 Ff-w et o= 3w & ufay weh
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geraTee SR a1 HEHW gl § Afde & HRiY @IeHY wgdl § 1o & fondt +ft Fraa w sroem 31 i ok
I | T TEE AE T € U I S ST B et g sfeTr A uikvrd e g, \-rﬁéeﬂﬁ
WY el & g1l A foum 4T <reg gfRp & €, S 31 'HeR IRMT F IR N, AfpT 37 I ufd

o1 Tt S feas e &, o gd fadeg, aﬁwﬁaaﬁ?mﬁaﬁuﬁﬂmuﬁwﬁaﬁm
<t 8, i I THG-THY WR MY HTEAY F 1Y HRA-Yf F ufa ywe 3 A

S T B UGHR - I T YA BT I«k qa3T
T YA & Vs fras IR A 72

1. YRA

2. ¢ foicH

3. S

4. &R R

Correct Answer :-

. T MREAT

4) T IR "3THT B ¥eAT §, ot a8 R T Uit Hepfa & yewifad gt €, wrel = ok
SfRpd 8 Td | TS 3R U] & HaY B I1d @Y e G, 39 el BT R "oy ff 9gd e B, -
FW A 3eiidd s 34 &... TR, 78, UTs, Us... MUy § g oA iawfdel # d uw shda ufaar &1
ﬁw,wmﬁmﬁwmmaﬁﬁlwwmwﬂm%muﬁm%sﬁm
IUHTON F ufel TIE A UK St WG B 5+ fean, S Ay Y AR, iR APivf srguron A 954
A 4T? T YR BT BIg AT ST 8, TSI AT, HETHRE MR TRIVTS HUT13 & Wl T Hi 3
site @ et U 9 WETa® el §1d? AfS U yES H SiidT g i U U’ § 3uq g B
UaEfi BT 7T §, O I8 981 WHT B APl §, Tel TN Bl &8 UR IPid & HiA-Ria $ifdpd 75 2
TR P! Fd §U IS ¢qdT, ! BT W=l Fa g P15 Wi, U818 W Teq g forwdt uRiivres arn & siadbun
A vefug ¢, o W $en wad gU g9 vt shta=i-arn &t did-arn & uRura o7 aq 81

3refta o =1 & ufar ag UtaT 3= A=W | off 3t 51 Tt N, STET I-UH BT TeRT ey WPl 3R TRURT
Tt Wi A ST UTI G dIRSBIaGws! Bt e R oY arg ot 8, o ver ur yfe &1 v oA v
i 3t yg@ GATaT 8, 3R 39U UF # UfRe w9 & IR § Ol $ U1 ISR YdHe Hd §, d TH 3eila
WRE BT MeaTAd 39 fiT 5T §1 98 fored €1 "o au® g1 & Ara gt dft-woft orom &1 & wfa et
gigraTee 3 Bl Tevd gidl @ Afth # Wity @I wedl § 5 & feelt 1t Pa o= 3o 31 fsdt sk
0 | TE TEE AE T € A I F SRer Y et g sheT A uiura e A, \‘rﬁz%%Rﬁ
WY gdell & g1l § o 41" <reg gfRpT & €, S+ =1 'HeR IRMT & IR #H, Afp 37 I ufda

o enfifer smary faang 3ar 8, forad &w fadwrg, sﬁawﬁzaﬁ?m%ﬁaﬁwuﬁrwﬁa@?ﬁm
<t €, i I THY-JHY WR MY HTEAY & 1Y HRA-Yf & ufa yve 3 A

ST TR FY UGHR 1 T Y = BT Ik Tarsy |

R : URA-YY F ufd fdere, ft srfdg ok wiidh 3t wramn fpas a1y uwe g3 82
1. X YAy

2. M Wi

3. Yeyfad 9

4, Fqferd e

Correct Answer :-

. TR YA
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1. IoTait

Topic:- General English(L2GE)

1) Complete the sentence with the suitable pronouns.

Srikanth was tired of _____ failed businessesso _____ decidedto call _____ quits.
1. their, he, them

2. my, we, them

3. his, he, it

4, its, he, it

Correct Answer :-
e his, he, it
2) Read the passage carefully and answer the question given below:

Stonehenge is a prehistoric monument in England. It consists of a ring of standing stones and
archaeologists believe that it was constructed from 3000BC to 2000 BC. Ever wondered why the
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Stonehenge was built? People have been puzzling over this for hundreds of years. They have
come up with various answers, some of which are quite wild. Some people think that Stonehenge
was once a cattle pen; a palace, or an altar for human sacrifice. Others believe it to have been
the foundations for the tents of the great roman emperor, Julius Caesar. Today’s explanations for
the Stonehenge and the most popular ones are from science and math. There was once a man
named Alexander Thom who spent many years working on the Stonehenge and other stone
structures. According to him the Stonehenge is a sort of solid math problem. He believes that the
people of the past would have used this to find out measurements of triangles and other shapes.

What does the word 'puzz/ing mean in this context?
1. Creating puzzles

2. Thinking

3. Causing confusion

4. Making noises

Correct Answer :-

e Causing confusion

3) Read the passage carefully and answer the question given below:

Stonehenge is a prehistoric monument in England. It consists of a ring of standing stones and
archaeologists believe that it was constructed from 3000BC to 2000 BC. Ever wondered why the
Stonehenge was built? People have been puzzling over this for hundreds of years. They have
come up with various answers, some of which are quite wild. Some people think that Stonehenge
was once a cattle pen; a palace, or an altar for human sacrifice. Others believe it to have been
the foundations for the tents of the great roman emperor, Julius Caesar. Today’s explanations for
the Stonehenge and the most popular ones are from science and math. There was once a man
named Alexander Thom who spent many years working on the Stonehenge and other stone
structures. According to him the Stonehenge is a sort of solid math problem. He believes that the
people of the past would have used this to find out measurements of triangles and other shapes.

Alexander Thom'’s perception of the Stonehenge was that it is:
1. A cattle pen

2. A site for scientific discovery.

3. A sort of a solid math problem

4. An architectural monument of great worth.

Correct Answer :-

» Asort of a solid math problem

4) Read the passage carefully and answer the question given below:

Stonehenge is a prehistoric monument in England. It consists of a ring of standing stones and
archaeologists believe that it was constructed from 3000BC to 2000 BC. Ever wondered why the
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Stonehenge was built? People have been puzzling over this for hundreds of years. They have
come up with various answers, some of which are quite wild. Some people think that Stonehenge
was once a cattle pen; a palace, or an altar for human sacrifice. Others believe it to have been
the foundations for the tents of the great roman emperor, Julius Caesar. Today’s explanations for
the Stonehenge and the most popular ones are from science and math. There was once a man
named Alexander Thom who spent many years working on the Stonehenge and other stone
structures. According to him the Stonehenge is a sort of solid math problem. He believes that the
people of the past would have used this to find out measurements of triangles and other shapes.

Today, the Stonehenge is:
1. A palace

2. A prehistoric monument
3. Atent

4. An altar

Correct Answer :-

e A prehistoric monument

5) Read the passage carefully and answer the question given below:

Stonehenge is a prehistoric monument in England. It consists of a ring of standing stones and
archaeologists believe that it was constructed from 3000BC to 2000 BC. Ever wondered why the
Stonehenge was built? People have been puzzling over this for hundreds of years. They have
come up with various answers, some of which are quite wild. Some people think that Stonehenge
was once a cattle pen; a palace, or an altar for human sacrifice. Others believe it to have been
the foundations for the tents of the great roman emperor, Julius Caesar. Today’s explanations for
the Stonehenge and the most popular ones are from science and math. There was once a man
named Alexander Thom who spent many years working on the Stonehenge and other stone
structures. According to him the Stonehenge is a sort of solid math problem. He believes that the
people of the past would have used this to find out measurements of triangles and other shapes.

This passage talks about:

1. Alexander Thom

2. Stonehenge as an altar for human sacrifice
3. The measurement of triangles

4. Why Stonehenge was built?

Correct Answer :-

* Why Stonehenge was built?

6) Read the poem carefully and answer the question given below:

Language
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A bumbling bee went berserk...

Instead of buzz, buzz, buzzing, went zzub, zzub, zzub.
When asked why this wonderful wonder?

He just haa, haa haaed aloud,

Said, “change is sometimes good to stand out in a crowd!”

A zany zebra zoomed about, zithering here and there
Fell tired and went to sleep with a zzzzzz.

Soon, was up on his feet and zipped about again with a brzzzzzzz.

An elegant elephant empathetically made a solemn elegy,

Then, eccentric that he was, excellently sang it to melody.

A flippity, flappity, floppy fish

Had fine fins and a fiery spirit.

Was bedecked in finery from head to toe
Looked like a floral feature on the ocean floor.
Not to be cowed down, nor bullied about,

He went about all his tasks with zeal and ardour.

The figure of speech in “"when asked why this wonderful wonder” is:
1. Simile

2. Personification

3. Onomatopoeia

4, Alliteration

Correct Answer :-

o Alliteration

7) Read the poem carefully and answer the question given below:

Language

A bumbling bee went berserk...
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Instead of buzz, buzz, buzzing, went zzub, zzub, zzub.
When asked why this wonderful wonder?
He just haa, haa haaed aloud,

Said, “change is sometimes good to stand out in a crowd!”

A zany zebra zoomed about, zithering here and there
Fell tired and went to sleep with a zzzzzz.

Soon, was up on his feet and zipped about again with a brzzzzzzz,

An elegant elephant empathetically made a solemn elegy,

Then, eccentric that he was, excellently sang it to melody.

A flippity, flappity, floppy fish

Had fine fins and a fiery spirit.

Was bedecked in finery from head to toe
Looked like a floral feature on the ocean floor.
Not to be cowed down, nor bullied about,

He went about all his tasks with zeal and ardour.

The synonym for “berserk” is:
1. Strange

2. Crazy

3. Confused

4. Angry

Correct Answer :-

8) Read the poem carefully and answer the question given below:

Language

A bumbling bee went berserk...
Instead of buzz, buzz, buzzing, went zzub, zzub, zzub.

When asked why this wonderful wonder?
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He just haa, haa haaed aloud,

Said, “change is sometimes good to stand out in a crowd!”

A zany zebra zoomed about, zithering here and there
Fell tired and went to sleep with a zzzzzz.

Soon, was up on his feet and zipped about again with a brzzzzzzz.

An elegant elephant empathetically made a solemn elegy,

Then, eccentric that he was, excellently sang it to melody.

A flippity, flappity, floppy fish

Had fine fins and a fiery spirit.

Was bedecked in finery from head to toe
Looked like a floral feature on the ocean floor.
Not to be cowed down, nor bullied about,

He went about all his tasks with zeal and ardour.

“Fiery spirit” describes the fish as:
1. Active, energetic and lively

2. Hot as fire

3. Boring and dull

4. Serious and easy angered

Correct Answer :-

» Active, energetic and lively

9) Read the poem carefully and answer the question given below:

Language

A bumbling bee went berserk...

Instead of buzz, buzz, buzzing, went zzub, zzub, zzub.
When asked why this wonderful wonder?

He just haa, haa haaed aloud,

Said, “change is sometimes good to stand out in a crowd!”
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A zany zebra zoomed about, zithering here and there
Fell tired and went to sleep with a zzzzzz.

Soon, was up on his feet and zipped about again with a brzzzzzzz.

An elegant elephant empathetically made a solemn elegy,

Then, eccentric that he was, excellently sang it to melody.

A flippity, flappity, floppy fish

Had fine fins and a fiery spirit.

Was bedecked in finery from head to toe
Looked like a floral feature on the ocean floor.
Not to be cowed down, nor bullied about,

He went about all his tasks with zeal and ardour.

In the last stanza of the poem, the fish is compared to a
1. plant
2. beautiful carpet

3. group of animals

4. flowery decoration

Correct Answer :-
» flowery decoration

10) Read the sentence carefully and choose the option that has an error in it:

When Gopal opened the cage, the parrot came out and perched in his shoulder.
1. No error

2. the parrot came out and perched

3. When Gopal opened the cage,

4. in his shoulder.

Correct Answer :-

e in his shoulder.
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11) Fill in the blank with the correct option in the given sentence:
The river appeared --canny to the poet.

1. re--

2.in--

3. ill--

4, un--

Correct Answer :-

12) Fill in the blank with the correct option in the given sentence:

The company used one of its ex-employees asan ______ for the seminar.
1. assessment

2. assess

3. assistant

4, assessor

Correct Answer :-

e assessor

13) Fillin the blank with the most appropriate preposition in the given sentence.
She wanted to be  friends.

1. across

2. between

3. among

4, below

Correct Answer :-

e among

14) Choose the most appropriate articles in the given sentence.

woman was seen driving away in black car.
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1. An, a
2.A a
3. A an

4. No article required, the

Correct Answer :-

15) Choose the right tag:

Sita comes to school regularly, ?
1. is she

2. wont she

3. does she

4, doesn't she

Correct Answer :-

e doesn't she

16) Choose the option that substitutes the given phrase appropriately.

The rule of a king or queen
1. Democracy

2. Monarchy

3. Plutocracy

4. Despotism

Correct Answer :-

e Monarchy

17) Change the given statement to indirect speech.
She said, "I am listening to music now”
1. She said that she listened to music then.

2. She said that she will be listening to music now.
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3. She said that she was listening to music then.

4, She said she would listen to music now.

Correct Answer :-
 She said that she was listening to music then.
18) Choose the appropriate suffix that forms a noun in the given sentence.

The principal gave him a good testimon-- when the boy left school.

1. --ies
2. --ation
3. --ial
4. --ials

Correct Answer :-

e --al

19) Choose the appropriate prepositions for the given sentence:

There was plenty
best the actors.

laughter the film sets while the director was trying to bring out the

1. of, on, in

2. of, from, among
3. in, in, for

4, to, at, on
Correct Answer :-
e of, on, in

20) Choose the appropriate antonym for the highlighted word in the given sentence.

Why didn’t you respond to my call?
1. Answer

2. React

3. Reply

4. Ignore
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Correct Answer :-
» Ignore

21) Choose the appropriate conjunction for the given sentence:

I faced difficulties I was successful.
1. but

2. and

3. which

4, that

Correct Answer :-
e but

22) Choose the appropriate option that rewrites the given sentence in its passive voice.

Assam grows Tea.

1. Tea is grown in Assam.

2. Tea is being grown in Assam.
3. Tea is grown by Assam

4. Tea has being grown in Assam

Correct Answer :-
e Teais grown in Assam.

23) Choose the appropriate tense to fill in the blank in the given sentence:

Grapes well in tropical climates.
1. don't grows

2. did not grew

3. are not growing

4. doesn’t grow

Correct Answer :-

» don't grows
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24) Choose the appropriate synonym for the highlighted word in the given sentence.

After a few years of romance, the courtship between the celebrities faltered.
1. Fluctuated

2. Became stronger

3. Flattered

4. Grew weaker

Correct Answer :-

» Grew weaker

25) Choose appropriate articles for the given sentence:

It was duskby __ time wereached ___ Cape Town, one of __ most beautiful of world’s cities.
1. a, the, the

2. a, no article required, a

3. no article required, the, the

4. the, no article required, the

Correct Answer :-

« the, no article required, the

26) Choose an appropriate modal for the given sentence:

Our competitors be mistaken if they think our supervisor is going to join hands with
them.

1. ought to
2. should
3. may

4, must

Correct Answer :-

27) Choose the option that best explains the highlighted expression:
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We had a ringside view of the boxers because our seats were three rows from the ringside.
1. A place very comfortable to obsequies the actions of the play

2. Clear, uninterrupted view

3. An area ringed around for special purposes

4. A closer look at the stadium

Correct Answer :-
e Clear, uninterrupted view

28) Choose the option that best explains the highlighted expression:
Some people have a habit of wearing their heart on their sleeve.

1. exposing their innermost feelings to others

2. saying something which is not to be taken seriously

3. always trying to gain advantage over others

4. avoiding being friendly with others

Correct Answer :-

» exposing their innermost feelings to others

29) Choose the option that best combines the given sentences.

He finished his breakfast. He washed the plates.
1. He finished his breakfast and washed the plates.

2. He having finished his breakfast and wash plates.
3. Having finished breakfast, the plates were washed.

4. He was being finished his breakfast to wash the plates.

Correct Answer :-

» He finished his breakfast and washed the plates.

30) Choose the option that best transforms the sentence into its Indirect form:

“What shall I do next?” the little boy asked his mother.
1. The little boy told his mother what he should do next.

2. The little boy asks his mother what he shall do next.
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3. The little boy said to his mother what I should do next.

4. The little boy asked his mother what he should do next.

Correct Answer :-

e The little boy asked his mother what he should do next.

Topic:- Science (SCI)

1) The frequency of wave produced from a device is 50,000 Hz . It is equivalent to: /

TS 47§ ST a1 B MIFRT 50,000 B (Hz) 31 T8 1 & G &
1. 5kHz / 5 foagds

2.50kHz / 50 foratiged

3. 500kHz / 500 fages

4.5000kHz / 5000 fFHagcs

Correct Answer :-

. 50kHz / 50 fagcs

The following are the pH values of some commonly known solutions:

Substance. pH wvalue.
Acid rain 3.6
Gastric juice. 1.0
Lemon juice 25
Tomato juice 41

Which one of them is the most acidic? /

farafafea o w faeaat & pH A &:

ger. dioT A
3Fer gur 5.6

AR 1.0

oftg & 2.5

THTEY &7 4.1

S § BTl g Afw T 87

1. Acid rain / 3% auf
2. Lemon juice / :ﬁﬁj\ﬁ RSl

3. Gastric juice / HTHIRII XY
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4. Tomato juice / CHICR hIXH

Correct Answer :-

o Gastric juice / 3THIRII I

3)

The given distance—time graph shows the motion of two motor bikes X and Y along a straight

road. Which of the following statements is wrong?

& T gl-wF g o U Wl §s& & A & Al a5 X 3R Y & =@ &+
ceftar §1 P & § siaar saa 7eg &2

distance
Y

time

1. X takes more time than Y to cover a particular distance. /

T Fd I P aaHA & U X & Y I 31fs g T g
2.'Y takes more time than X to cover a particular distance. /

% Afd g B q HA & e Y &1 X $1fdd Io S g
3. Bike X covers more distance than Y. /

SIS X, T3P Y DI (U 31fere gl 08 it 7 |
4. Bike X moves faster than the Bike Y. /

S5 X, S5 Y P UM 31 ool o

Correct Answer :-

« X takes more time than Y to cover a particular distance. /

U Fd I P aaHA & A x & v I 31 g drdar gl

4) In the aquatic food chain consisting of crane, phyto planktons, tadpoles and fish , the position
of crane is: /

ST @Te et orad IRy (a’_"l), UTGU WIdo (phyto planktons), TTUIA 3R AT« %,
&1 3 fRyfa ghft-

1. I trophic level / 1 qPH TR

2. 11 trophic level / 11 Qf¥edT TR
3. I1I trophic level / ITI GIfPdhdl TR
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4. 1V trophic level / IV TIf¥ddl wR

Correct Answer :-

« 1V trophic level / IV Tif¥edr TR

5) To teach diverse, difficult to understand concepts in science, a blend of text,
audio, animation, video, still images or interactivity content forms can be used.

This method is known as: /ﬁﬂﬁﬁﬁﬁﬂ,mﬁmaﬁw&ﬁ?ﬁ
UeH & fog, dRe, ifeal, efwE, difsar, R ofaal & fagorar
ammgﬂwﬁw.WWmemmélwﬁfﬁﬁ
el Slldl &:

1. Information and technology communication enabled learning / {1 3R

TN TR FeH SHTERTH
2. Multimedia approach /ﬂ?&ﬂﬁm‘e’f@ﬁw
3. Documented problem solving / TR THST-GHTYT
4. Video clips / fﬁ%’ff ﬁﬂ'q

Correct Answer :-

« Multimedia approach /ﬂmm

6) The focal length of a convex mirror in air is 15 cm. When it is immersed in water, the radius
of curvature of the mirror will be: /

1Y § TP 39 gUUr b1 A1 ASTS (focal length) 15 T 81 919 31 U H a4 9141 B,
U1 & aepar &1 BT gift:

1.30 cm/ 30 T
2.7.5cm/ 7.5 9Ht
3.45 cm / 45 9H

4.15cm/ 15 It

Correct Answer :-

« 30 cm/ 30 9t

7) Lightning conductor is a device used: /
afSd ITa® (@S e~ Heaer) Th SUBIUI BT SIAATA fhdT ST 8

1. To protect the buildings from the effect of lightning /
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ARGl B! dfsd & YU J &M o fow
2. For communication purposes /
TR YIS & g

3. For forecasting the forth coming lightning and thunder /

ST afSd 3R TReR (¥SR) o1 Yaiga= aH & forg
4. To store the electric charges produced at the time of lighnting /

dfed & IHY Idied faggd Smal &1 Wfgd A & forg

Correct Answer :-

« To protect the buildings from the effect of lightning /

SARAI &l dfSd & THIG I S & folg

8) Which of the following contains more roughage? /

m A feaw siftre Aer IRt (roughage) ﬁ'%?[ ﬁ?ﬂ %?
1. Fish / Al

2. Milk / gY

3. Leafy vegetables / UdeR gfesrar

4. Meat / |G

Correct Answer :-

« Leafy vegetables / TRIGR Tfedar

9) Sethu felt more cold on a metal plate than on a wooden table when she placed her hands on
them because: /

g DI YT S W UR Ahs! B A &I g1 4 MU 33T HgGH 31T o1d 39 3
BTYT D 3 WR QT Hifh:

1. Wood conducts more heat energy than metal plate. /

Ah !, UTd b WIT BT o H 31 SEAT SHolf BT AaTa Bl g

2. Her body temperature is less than the temperature of the wood and greater than that
of the metal plate. /

IqP IRR HI AU Thal & digH= I HH 3R U1 & e F 3P g

3. Wood is more hotter than a metal plate. /

ARG, U1 B We P ga 7 fe 7 B B
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4. Metal plate conducts more heat energy than wood. /

4T & W, Ahal DI qa-T | Sfed ST 3ol BT Farad Hal 7

Correct Answer :-
« Metal plate conducts more heat energy than wood. /

U & Wi, Adhe! BI ga- H 3ifed ST Soll o1 JaTed Bl 5

10) Proteins that regulate all chemical reactions of the body are: /

WA o) IRR @1 gt It siftferaret o frifia svd §:
1. Blood / Xdd

2. Lymph / AT

3. Hormones / BIHIA

4. Enzymes / USITSH

Correct Answer :-

. Enzymes/Q\_rl'I%T[

11) Which of the following motivates a learner to learn? Frafafead
DI-1 A & g T Rigmdf <t fva sxarg?

1. Interest in the topic / 0w T S

2. Repay / A0 &= (RU)

3. Lots of homework / 3[eIdh W
4. Easy questions / ST Hdlcl

Correct Answer :-

« Interest in the topic / f[Ava & Bf

12) Kelvin is the unit of: /
1. Pressure / G&Id
2. Temperature / dTUHIA

3. Heat / S ®HI

4. Humidity / 3Tel
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Correct Answer :-

« Temperature / dTUHIT

13) Automobiles use Batteries (Series of cells) to supply electrical energy for the functioning
of the vehicle.

Which one of the following acids is used in such Batteries? /

JTSIHISTST a1 & FHB & Y fagga St @t myfd H7 & g sefal da ot
YT PTHANT HIA 2 |

T UPR & 9eial § Ay & A S1-91 3r ST YT fohar Sirar 82
1. Phosphoric acid / BIhIND S
2. Acetic acid / Tffe® 3t

3. Hydrochloric acid / fﬂg@ﬁ?ﬁ% 3HKT
4. Sulphuric acid / W ST

Correct Answer :-

« Sulphuric acid / SRR &

14) Choose the incorrect statement among the following. /
frafafed 94 9 s sy ST 9 oY)

1. Metals are electropositive in nature. /
YT Ul & faggd 4@ 81d 3 |
2. Metals are sonorous in nature. /

YTq Upfa # @1 g 71

3. Metals reacts with dil. acids to produce hydrogen gas. /
BIESIo 11 BT JaTe H & FIT UTq g offd & W Sififoran it 1

4. The oxide formed when metals reacts with oxygen, turns blue litmus to red. /

9 UTq TR & 1Y g Bl ], 99 Maizs &1 Fafur giar 8 1 for fia F a1

foTeHY o1l 81 ST & |

Correct Answer :-

« The oxide formed when metals reacts with oxygen, turns blue litmus to red. /

O YT St & A1y Nfehar St 7, I9 ez s &1 Fufur gl 8 | o i war
fore aa g ST ]
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15) Identify a non-metal which has metallic lustre: /

3 YT Bt UgA $¥, Forad enfas 90w g 8:
1. Phosphorous / TIH R

2. Todine / 3T

3. Sodium / AIfSTY

4, Sulphur / JethY

Correct Answer :-

« Todine / TSN

16) The device fitted with an automobile to show the distance travelled by it is called: /

qTE1 GRT AT B TS g8 Y a=1iA & e o 471 %1 e e o 8, 39 weT S @:
1. Speedometer / TTSIHICR

2. Odometer / 3{TSIHER

3. Lactometer / TGCIHICY

4. Hydrometer / €|3§-|ﬁ|8?

Correct Answer :-

. Odometer/ailg”ﬁaq

17) The magnitudes of the power of two lenses are 2D each. One of the lenses is convex and
the other is concave. If the two lenses are kept in contact, then what is the focal length of this
combination?

&1 Al ® & TP & UTaR BT IRAT0T 2D 31 a1 § A U S0d g 3R Gl 3aad ¢l afe
3 9 B YUS A TW A1 &, dl 59 I I hivd ddTg fhd- 82

1. Infinite / 3Hd
2. Zero /[
3.4

4.2

Correct Answer :-

« Infinite / 3-d
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18) The credit of green revolution in our country goes to: /

AR < # gia wifd 1 % STt &

1. Dr. V. Kurien / ST. . @F\’TFT

2. Dr. H.G. Khorana / SI. Q?af\_rﬁ WRTT

3. Dr. M.S. Swaminathan / SI. TH.UY. AT
4. Arya Bhatta / 3 He

Correct Answer :-

o Dr. M.S. Swaminathan / SI. UH.UY. WA

19) The magnetic effect of electric current was first observed by: /

faeyga YRT & ge@Ig U & AdUYH 3% gIRT Wféra far mar ar:
1. Andrew Ampere / QS'CJ\QTCﬂTR

2. Alessandro Volta / Qﬁ@@ diee]

3. Hans Christian Oersted / %7\‘:[ fopfa Sics

4, Michael Faraday / HIg®P <l VNS

Correct Answer :-

o Hans Christian Oersted / %TH ICJBRE] &hﬁ—g

20) The strength of the sea breeze depends on: /

TS} 541 B Udsar 39 W AT et 2

1. The temperature difference between the land and the ocean / 3;[&[ 3R dHx & dIIH o o b
HR I

2. The direction at which it blows / $Hb Tg B fG=T R

3. The level difference between the ocean and land / H% 3R 31[&[ & TR P dT & R W

4. Amount of water vapor present in the atmosphere / dIdIdRUl e ﬁﬁg ERER IR EIRCE

Correct Answer :-

o The temperature difference between the land and the ocean / l‘[&[ 3R % & YA & i &
IRW
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YhU B <ftsrdT I e B SITdl 8:
1. Kelvin scale / dfedd Thd

2. Celsius scale / IO Wb d

3. Richter scale / R Ihal

4. Romer scale / IR Wb d

Correct Answer :-

« Richter scale / Raex hd

22) An electrical cell has: /

o fagga Aa A g §:

1. Three terminals / T €fHAA

2. Only one terminal / PHad Udh [GEE]
3. No terminals / ﬁ's‘ Eﬁf:ﬂ '_‘l_Eﬁ

4. Two terminals / &l SfHTA

Correct Answer :-

o Two terminals / Eﬁ Eﬁ.:lﬁ

23) An element ‘X’ has 4 neutrons and 3 protons. Identify the correct valency of the element.
/

TP acd 'X' T 4 i 3R 3 Wierd 3| 9 & Tl Saroidpdl t Ugard He|
1.4
2.3
3.2

4.1

Correct Answer :-

24) Pick the odd one out. /

U fauw g |
1. Air/=dl
2. Mixture of sugar in water / 1:I'I:ﬁ'ﬁ[ NES oo
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3. Mixture of oil in water / UTHI H dd BT {HY0T
4. Cold drinks / Td U7

Correct Answer :-

« Mixture of oil in water / TT-1 & dcT BT fH807

25) When the force is doubled and the area is halved, then the pressure will: /

S & RT3 {01 SI1aT 8 3R &F%a e = o <irar g, <t g1a:

1. Be doubled / I §1 SIREATI

2. Become one fourth of its original value / 30 gRdfd® A BT Udh Eﬁzﬂé Epf ST
3. Become four times its original value / 3 IRAfdD T BT IR AT B SR

4. Be halved / 31T 81 ST

Correct Answer :-

« Become four times its original value / 3 IRAfd% A BT IR RIGI EP[ ST

26) When a paste of starch is added to boiling water, the type of system formed is: /

Wd HE (starch) BT TP U Igald YT & STAT SITAT @, <) I aTelt YITert 91 YD 8:
1. Colloidal solution / PIATS S facra—
2. Suspension / IBNEE!

3. True solution / ARATAP AT

4. Dilute solution / T faerd

Correct Answer :-

« Colloidal solution / PIASSH AT

27) When carbon dioxide is dissolved in water, the solution turns ./
o P SESHiaass UM A ga o g, difaqaa  Sgadarg!

1. red litmus to blue / @A faleHy &I it H

2. blue litmus to red / il feleHd &I a1 |

3. no change in the colour of litmus / foreag & T ﬁ's‘ uRad :@)[
4, into a yellow colour with methyl orange / AT 3RS o 1Y Tl T o

Correct Answer :-
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« blue litmus to red / dl felcHg ® A@ H

28) Which one of the following is the appropriate unit which is used to measure the volume
of Refined oil taken in a container? /

fFrafafad § @ S19-91 Sugw s@1s ¢ Fora®T T Ue Ui # uispd ad 3t a1 &
HIYA & fore forar wirar 82

1. Kilogram / farm
2. Nanometre / SHHIER
3.gm/L /T / dfleR
4. Litre / Tlc}

Correct Answer :-

o Litre/ E"E?

29) Which of the following is not a shell fish? /
fFrafefad d Q@ S19-91 FagUR) D! (shell fish) T8 82

1. Crabs and bobsters / abcbs_l 3R TR

2. Mrigals / §ITTeT
3. Oysters / 3R
4. Octopus / & Iqq

Correct Answer :-

 Mrigals / HIc]

30) Which of the following is an example for diffusion of a solid into liquid ? /
FrafafEa & & FH-91 31 &1 aRd & TR 3T TS IgT6R0 32

1. Ink into water / O & FTI%QT

2. Carbon dioxide into water / TT- H HIa 3'[5’3{\1%!@33

3. Oxygen in water / Ot it

4. Copper sulphate into water / U H HIR ehe

Correct Answer :-

» Copper sulphate into water / Ot H HIoR ehe
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31) Which one of the following solids is used as a drying agent in bottles containing medicinal
tablets? /

fFrafafaa % ¥ 5 19 o1 v shudha Mt are dtaal & e wam ard dRe! $ w9 & foar srar
22

1. Calcium carbonate / HIRTTH HTEHE
2. Sodium hydroxide / TfeTH RIS S

3. Quicklime / fSHITgIT AT
4. Silica gel / RifrmT @

Correct Answer :-

« Silica gel / RifcrT oia

32) What kind a learner is a child who seems to learn best when carrying out a
physical activity related to the subject? / dg d=l foa Ao DI ﬁT&‘IT ﬁﬁ?ﬂ %
<t fordt fawa & TefRa ifos &t &1 #vd ge Iaw 3T dar g2

1. Visual / €% (fag]3fen)

2. Aural / U] (&ﬁ’?ﬂ)

3. Kinesthetic / TTfaadl (dr31Rifc®)

4. Reading/writing / U&-/eaH RIfSTRIEE)

Correct Answer :-

. Kinesthetic / TTfcidal @Eﬁ@ﬁ@

33) The chemical name of washing soda is: / GTFRIT ST HT IS 9T B:
1. Sodium carbonate / STH BT

2. Sodium hydrogen carbonate / qifsaH 6]5\5\\]\31"! CAIETS

3. Sodium hydrogen sulfate / qifsTH 6I$§\I\SI"| The

4. Sodium sulfate / Oifeay gethe

Correct Answer :-

. Sodium carbonate / T STH HIEAC
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Which of the following are the objectives for science education at higher
primary (V, VI, VII) level? / 3 UTITH (v, VI, VII) TR & fRreor faenfdat
& fou FufafRea A A P e Sexu &2

1. Observation, induction and deduction. / ﬁﬁ&fUT, SMTH 3R A
2. Knowledge, comprehension and application. / 3T, THL 3R &IHW"T

3. Receiving, responding, valuing and organization. / iftear, ufdidar, W
3R TS

4. Receiving, responding and valuing. / SifToret, wfdfoear 3R W

Correct Answer :-

- Knowledge, comprehension and application. / 3T, JH 3R &l‘j;rqﬁﬂ

35) Which of the following cannot be used in mixed cropping? /

Frafafea & @ fewe Sua fafya vaa 9 737 forar s awar o2
1. Ragi+ mustard / AT + Il

2. Wheat + gram/ﬁ_§"+ ERl

3. Wheat + mustard / ﬂE + Il

4. Soya bean + pigeon pea / TS + 3RER DI &Id

Correct Answer :-

+ Ragi+ mustard / I + TR

36) Tracking the learning process during the instruction period is

which type of evaluation process? / 3feRTH ufshar & A= erafy &
IR P AT {5 YR F Teuid uihar 82

1. Formative evaluation / TO@TR® Jedidh
2. Summative evaluation / ARTIEHD Hedidh

3. Placement evaluation / ST HcATh]

4. Diagnostic evaluation / ST Heidh

Correct Answer :-

. Formative evaluation / 3TN HeTh
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37) Curriculum is a complete plan for of educational aims. /

Afeure ezl & & forT ureTsH U qut aie T B
1. implementation / CRIESpE|

2. understanding / JHA

3. evaluation / HedTh
4. visualization / -l

Correct Answer :-

« implementation / HAaT

38) Crop rotation is a practice to grow on the same field. /
XY TG (Crop rotation) T &l HgH & IUS @1 ufshar g1
1. two or more crops together / &l T &l U 3P B T 1Y

2. two or more crops in definite row pattern together / fAf¥ra dfad Ued 3 QY a1 31 9 31fes Udh
iy

3. all the above / IWIad It
4. a leguminous crop between two cereal crops / a 3T AT Bl & dd Udh IhdgR hdd

Correct Answer :-

« a leguminous crop between two cereal crops/a mar&ﬁwa‘r%d’rawwwa

39) One of the statements made about consumers is incorrect. Identify the same. /
U3 & Ay B Th Y TAd g1 ITD! g™ Fe |

1. They cannot manufacture their own food. /a 3 WWWH@WWI

2. Chemical energy is obtained from outside. / QN—IILIIr'\10b d-NIT SIRES ﬁ YItd ODQSI %I

3. They do not have chlorophyll. /quﬂﬁﬁﬁm :I%:ff-ﬁ?ﬂ%)l
4. They take in CO, and give out O,. / d CO, Usul CRGEA] 0, Jsd gl

Correct Answer :-

» They take in CO5 and give out O5. / g CO, Ugll G| % L] o)) Eﬁ@ﬁ %I

40) One of the processes that involves the consumption of CO5 is: /
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CO, & Wud | fia ufsharsii # 4 T® §:
1. Forest fires / SHTA BT 3T

2. Photosynthesis / UDIR[ REGNY

3. Respiration / I

4. Combustion of substances / tIETQﬁ D[ qed

Correct Answer :-

 Photosynthesis / UDIRT T

41) What is meant by intervarietal hybridisation? / mﬁiﬁf BT ('{E?aﬁqﬁ
grsfafeorerT) &1 @ ardf 82

1. Crossing between different genera / fafe ST o o IR

2. Crossing between different varieties of plants / qrelf ot - foswrl & o spiRiT
3. Crossing between genetically dissimilar plants / 3afRI% ¥U ¥ SGHM Qe & T BT

4. Crossing between two different species of the same genus / T& &I o9 & &l F- gonfaal &
S HIRAT

Correct Answer :-

« Crossing between different varieties of plants / qielf ot forer-fe fopwrl & o spikRiT

42) what is the literal meaning of the word “Science”? / "ﬁ?ﬂq" Qo PT W 3k
1 8?

1. Experiment / TN
2. Knowledge / 3T

3. Wisdom / FfGH
4. Logic / d%

Correct Answer :-

- Knowledge / T4

43) Three resistors of 12 ohm each are connected in parallel. This combination is
connected in series with a combination of two resistors of 3 ohm each in series. Find the
net resistance of this circuit. /
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TP 12 3H (ohm) & T UfaRIHU® THMGR 9 A S gU B | 98 Ao 49T & Udd
;ﬁgﬂn%a‘rmtﬁaﬁuﬁm%mﬂ yaar § ST §U 8 | 39 UNUY $T 5 ulaRiY g1
|
1.10 ohm /10 31
2.5.50hm /5.5 39
3.42 ohm / 42 31

4. 15 ohm / 15 31

Correct Answer :-

« 10 ohm/ 10 3NH

44) Ability to define an event in one’s own words and language is an indicator of : / foet

"1 &) fhll & 3ra Trea) 3R HTHT & TR B3 B &/ dT SHPT T IS ¢
1. Providing explanation / TISIHRUT UgTH AT

2. Communication skills / AR DI

3. Value/Attitude / Jed/a-Igh

4. Experimentation / TR

Correct Answer :-

. Communication skills / IR W

45) The blackish material of vegetable origin formed by carbonisation under the surface of earth is: /

gt Bt 9ag & T S gRT fAffa aafe ga ot st aneht s1am g
1. Charcoal / ARPId

2. Coke / DI

3. Petroleum / UcIferad

4. Coal / 1Tl

Correct Answer :-

« Coal / HITaT

46) The near point for a normal eye is at a distance of: /

TP I A7 & g e fig 9 g @
1.30 cm from the eye / =Y 30 9H
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2.20 cm from the eye / = ¥ 20 4t
3.25cm from the eye / 73 ¥ 25 I

4.23 cm from the eye / 75 ¥ 23 IHT

Correct Answer :-

« 25cm from the eye / 7 ¥ 25 4t

47) CANCELLED

If the momentum of a body decreases by 20%, then its kinetic energy will decrease by:/
gfe TP I BT AT 20% U< STdT 8, a1 FqP Tfael SHeoif HH g Sredl:

1. 40%

2. 18%

3.36%

4. 8%

Correct Answer :-

e 36%

48) In accordance with Dale’s Cone of Experience, which of the following media can help
a student to retain about 30 percent of his learning experience? / 9 & B 3ATH

THUiTE & oER, fAufifad & I o9 a1 areay Ue B B 39S AR gHT
¥ 30 wfa=ra &1 ufaenfyd 31 & Hag ®% JodT 82

1. Youtube / &Id

2. Orkut / 3{R&pC
3. Google Plus / 7[ITe] WiH

4. Radio / %léal

Correct Answer :-

« Youtube / YR

49) A doctor uses a for examining the ear of the patient. / T® Slae¥

AN & S Dt g FA & AT TH BT SUINT HaT 3
1. concave mirror / 3(Add gUUT
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2. concave lens / 3add @
3. convex mirror / 3 E"CT'UT
4. convex lens / 3dd aﬂ

Correct Answer :-

. concave mirror / ddd E'CTUT

50) The two forces acting on a body which is floating in a liquid is: /
T X Uerd o A areft 9vg W T HIA arell gl 9 &

1. Buoyant force and frictional force / 3cfIdd dcf 3R gvur 5@

2. Gravitational force and buoyant force / W‘S‘:UT I 3R IGH

3. Gravitational force and frictional force / WEFUT I 3R gyur 9

4. Buoyant force and centripetal force / 3&<iideh §¢t 3R ST §a

Correct Answer :-

« Gravitational force and buoyant force / W&UT I 3R IAGH a9

51) The characteristic which helps us to distinguish one sound from another

sound having the same pitch and loudness is ./

fa=iar 8 < g JHTH U SR 9| W) @1 S8 a1d U G B 3
g | 3R Ugar § Heg Heat gl
1. velocity / aT

2. amplitude / 3TdTH

3. quality / T[UIddl
4. frequency/ 3fTaftd

Correct Answer :-

« quality / IJ0TA<I

52) A body of mass ‘m’ is moving with a velocity ‘v’ along a straight line. If the
mass and velocity are doubled, then find the ratio of the final kinetic energy to
the initial kinetic energy. /

S 'm' $ TP axg A 'v' & 1Y T Aleh @1 & qHiaR M gedt 81 afe soaw=
3R T B ST H e imar B, ot sifaw nfas et iR e wfas Seitf &1
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SUTd T B
1.1:8
2.4:1
3.8:1
4. 1:4

Correct Answer :-

« 81

53) The pitch of the sound is determined by: /

taf &1 fig 3ad grT Ayl @1 9t 8:
1. Amplitude / TUTH
2. Intensity/?‘ﬂﬁ?ﬂ

3. Frequency/ \’rﬂqﬁf

4. Loudness/ Udddl

Correct Answer :-

« Frequency/ &ﬂ?ﬂ%f

54) The derived unit of the physical quantity, which is the product of mass and
acceleration is: /

W A Bt G IHTS, S AN 3N @R BT (UG ¢
1. pascal / Ul¥ch
2. newton / g

3. joule / 9[cT
4. watt / dic

Correct Answer :-

« newton / Ycd

55) What are the food requirements of dairy animals? /
3 uxpen Y Wrer SRS T 82

1. The feed should include roughages and concentrates in balanced amounts /
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g H AT FRT g1 =16 Td Hieskdll Hlferd AT & 81
2. Fresh green grass/
GISIRICIR]
3. Mixed feed containing dry grass, grams and other roughages /
TE U, 94 3R 39 HieT IRT gad [Afdd @

4. Nutritious feed with additives /

TS & 1Y TN T

Correct Answer :-

» The feed should include roughages and concentrates in balanced amounts /

Qe | Al IRT 8T A1fgY Ud sl ddferd O & &1

56) A teacher always introduces the concept of atoms with the same

example.This shows he did not consider: / Th fRrere A= TF Bl ISIeul G
1Y YRUTLSM B SFURY HT Uad ¢a1 31 98 fe@mar g fF s fm R
faar =18 foma:

1. His/her student's previous knowledge. / 396 I & fUsd I
2. The new facilities available to him/her. / 3I9H ﬁ'l'q '_'I_sc ﬁ%‘iﬂﬁ U %I
3. How to update his/her knowledge?/ I P Y 3(TSe fbar Sw?

4. How to keep all the students attentive? / gt S Bl TTIGb*‘d ?p& G2

Correct Answer :-

« His/her student's previous knowledge. / 396 B & USd A4

57) Which of the following can be used for making students independent

Iearners?/mﬁﬁmwmﬁﬁmm&ﬂﬁﬁﬁ%m
forar =i g@ar 82

1. ICT resources / &ﬂg@?ﬂ 7

2. Assignment with long answer based questions / &Y TR STeTRT U9l & 1Y
Jiur a1 ST (3TTHT)

3. Quiz / YR
4. Group discussion / W EEl

Correct Answer :-
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« ICT resources / &ﬂﬁ_ﬁ 1Y

58) Since 2014, T.B. related deaths were very uncommon. What does T.B. denote? /

a¥ 2014 T, <&} Gaftra Wia 9gd s ot | dt 374 A fFd Fefia srar g2
1. Tetanus bacteria / Teag Saifan

2. Taeniasis/ﬁﬁqa'[ @Iﬁﬁfﬂ)

3. Tetanus toxoid / EC-—H—I c\|q{-|\|’qs

4. Tuberculosis / &HT @Wﬁﬂ)

Correct Answer :-

+ Tuberculosis / Y&HT Wﬁﬂ)

59) A teacher discusses the difference between textbook theories and current

ongoing research on the same subject. This shows that: / T ﬁT&‘W U ﬁ fawg
R TSI ® & fRAgidl SR adH | °ad 38 WY & o 3iax W= ==t Hrdl
&1 I8 guiar § f&:

1. Science is tentative / TaFTH, TuTfad %I
2. Science is interdisciplinary / ﬁ?ﬂ?, 3R favgs %I
3. Science is rapidly expanding / IERIG doil ¥ fadR &R 3@l %I

4. Science promotes questioning / TaRTH, TaTA B &I d@TaT Sl |

Correct Answer :-

« Science is tentative / TaJ, THIIAT g

60) Which of the following does not reflect features of a well-developed learning

objecﬁve?/mﬁﬁﬁqumﬁmmmﬁ
fa=ivarsii & yee g a1 3?2

1. The teacher holds tests regularly. / RIe&fe fafiid U § uten Smford HRar gl

2. The teacher performs an experiment before the beginning of a topic. / fRrere fhdt

[ &t YF3Td W gl Ueb YT HRll 5 |
3. The teacher explains a law and their uses. / ﬁT&‘W Udh ISt G'ﬁT 3% ITINT DY

AT BT 2 |
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4. The teacher uses a mix of English and the local language in class. / Rrerd Hem

SISt 3R RITHRT HINT & Y07 BT SUTNT BT |

Correct Answer :-

« The teacher explains a law and their uses. / Rrerm U e 3R 9% IUANT &

AT BT g
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